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Math worksheet on 'Slope - Find Parallel - Slope

Zero Intercept Form to Standard Form (Level 1)".

Part of a broader unit on 'Slopes and Parallels -
Practice'

Learn online:

app.mobius.academy/math/units/line _equations and parallels practice/

2 What line equation in standard Q@

form would have a slope thatis () 25 + 1y — 3.5

PARALLEL to the slope of this
line equation?

Y = ——;Bc—lachZy:?
0.52 + 1y = 3.5

4 What line equation in standard g

form would have a slope that is —0 ] 25:U 4+ 1y — 3

PARALLEL to the slope of this
line equation?

1 0.25z + 1y = 3

Y = — X 8r+2y==6
4
—0.2bz +2y =6

6 Whatline equation in standard 'Q

form would have a slope that is —0 ] 25:U 4 1y =1

PARALLEL to the slope of this
line equation?

1 2052 + 1y = 1
—;B(fl.5$+3y:3
2 “da 42y =2

y:
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y =1z

Name:

What line equation in standard form would
have a slope that is PARALLEL to the slope of
this line equation?

Yy = —bx

0.6z + 3y = 15 b
~10z + 2y = 10 d

152 + 3y =15
5z +2y =10

3 Whatline equation in standard '@

form would have a slope that is _033$ + 1y — 2

PARALLEL to the slope of this
line equation?

"9 + 3y = 6

Y — 3CU°—9x+3y:6

215z 4+ 1y = 2

5 What line equation in standard @ b
form would have a slope that is

PARALLEL to the slope of this 1 4 1y = 2 2z + 2y = 4
line equation?

c d
—lz+1y=2-05z+1y =2

7 What line equation in standard form would

have a slope that is PARALLEL to the slope of
this line equation?

Yy = —4x

8z +2y =8 b 4z i1y—4

4z +2y =8 d 0752 +3y=12
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